LED  VAR BYTE

Init:

    ANSEL = 0    

    LED = 0

Main:

    GOSUB LEDON

    LED = LED + 1

    IF LED = 20 THEN LED = 0

    PAUSE 100

GOTO Main

LEDON:

    TRISIO = %111111

LOOKUP LED ,[%000001,%000010,%000001,%000100,%000001,%010000,%000001,%100000,%000010,%000100,%000010,%010000,%000010,%100000,%000100,%010000,%000100,%100000,%010000,%100000], GPIO

LOOKUP LED ,[%111100,%111100,%111010,%111010,%101110,%101110,%011110,%011110,%111001,%111001,%101101,%101101,%011101,%011101,%101011,%101011,%011011,%011011,%001111,%001111], TRISIO

RETURN

